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Consumer Systems: The Long Tail

After completing this a

ctivity you will be able to: explain what a

long tail distribution is and why it matters.

r

ki

Step 1: !ndiwdually

Head to the website showing 2016 Domestic
5016 then complete this tabte

Look under Box Office...Yearly and Select
Rank Movie Title Gross Sales Rank i Movie Title Gross Saﬁas
1 | 4 225
10 s 300
25 375
50 450
75 525 & |
150 600 idesn
Step 2: In Groups (2-3) \

onto this

chart:

" Compare your tables with other group members (e.g., reach agreé%t on the data!}i raﬁthe data

450,000,000

300,000, 000

350,000,008

300,000,000

250,000,000

200,000,000

150,00C,000

1C0,000.000

£0,000,000
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Total Gross

235 300

375 A50 575

B0

Information Systems in Organizations - Activity Worksheet

Page1




the data is charted, draw a line connecting the individual data points. Then answer these

Once all
questions:
e There are 3 general measure of central tendency (e.9., average). How much money did the
average movie make? )(\
o Mean: 7,_{ H
o Median: \;‘;_9.;

o Mode:
<)

If you totaled up box office receipts from the bottom N movies, about hDWny mnu}éﬁ would

&
¥

.+ take to match the total for the top-grossing film? p

« Do you think the top-ten ranking movies were the best movies of the year?

] Step 3: Discuss as a Class W

and mode in long-tail distribution vs. ncrmai dtstnbutmn
.:: ‘:f”"'ﬂ'ﬁ"‘".:_ e Yia -2 ¥}

e Differences between mearn, median,

L ...": .:J.:\l u&?ﬂ—-:.i ('_h‘-.qf""f:ﬂrﬁ‘ﬁ huum\‘,'}ﬁﬁ
\ Step 4: Answer these shurt-answer questions (I individually) |i

e T

"1 Draw a long-tail distribution:

\

5 What is an example of @ product or serwce {other than movies!) that follows the Ir:mg -tail J}(\_
distribution? Ve oS g!f:v & wm.%) (}cb%ﬁ‘? NaoACS Bdé N MZDN

3. Why does it matter what distribution products sales follow?

¢ P@Tiovy e Ve L N |

\

it will reguir® = diLereal W tng

4. Whatis something youllearned doing this activity?
£k 4 = - - _.::_..-'-.

1 Cﬂmpleteiy 2 Somewhat 3 Neutral ¢ Somewhat {~=5_ Completely
Disagree Disagree Agree ! Agree

| Rating (1t0 5)

Ste.-p 8: Rate this alr.:tmfi‘l:*,,f (individually) |

Ratings

. Gtatement

This is an engaging activity.

This activity helped me learn more about today's topic.
This activity should be included in future classes.

Anything else you want the instructor to know? |
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$600,000,000

step 2 a

L
®

Solution

$500,000,000

$400,000,000

$300,000,000

$200,000,000

$100,000,000
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